—AgttEEA KDEREWIERER A B E

SEE

EEC 4 11[12 18[1
% |BEBXOL—>(@R) 5H | 16
#BBROL—>(EROH) |48 | -
Bk (BihE) 3H| 9
Bk (BihE) 68 | 13 | 25 NS
BHiR (FRK) 18 2
REEHDERER 2H 4
SRS 2H 6
=SATESRE 3H| 8 | 6
B lamrveses iaL) |38 11 6
H§ IBEBRIL—> oty |38 13| 7
2 |EHENT ¢x2) |38 12 | 7 |io/31~>
IJA—=DOUT b 2B 7 | 4 NS
TA—=20UT b (135) 48| 7 | 24
TA—=DUT ~ (281) 48| 7 | 24
IA—2UT K (x3-2)|48 | 7 | 24
IA—=DUT K~ (#FzL) | 5H | 11 | 24
> anN)Lg—4—
s |IL—2% 28| 9 | 4
B [NBUERMER 2H| 7 | 6
i e 2B| 6 | 4 [
S |lox—oUTk 2| 6 | 6
Z BE - Z2E4EES 28| 14 | -
w |BVPIEFHEE 18| 3.5
BE(\BE) 123 /4]5/6] 78] 9[10/11[12]13[14]15[16]17[18]19]20
2023%11A Eﬁﬁﬂ\%ﬁ**ﬁiﬂﬁN**ﬁiﬂﬁ%**ﬁiaﬁ

1 RBRE FH 10850 Rik 683
2 RFRE FH ok R 685
X RBEKCE DT, BE(IFRE) KEDDFIODOT, #HMllld FRMFER XL FHEBEOR— ZZELESL,




